BUSINESS VALUATIONS MULTIPLE CHOICE SOLUTIONS
1. 
Correct response is (A).

Marigold Mining is a high risk business due to the fact that they are subject to unpredictable fluctuating commodity prices for gold.  Also, competition has increased dramatically recently.  Therefore, in coming up with a capitalization factor, one should assess Marigold as high risk and use a capitalization factor reflective of this high risk.  Since Marigold is paying prime + 3% on long-term debt, it is reasonable to assume that a purchaser would want a return of greater than that amount, given the higher risk involved in investing in the equity of this company.  Therefore, a return of approximately 9% would not be unreasonable given the high risk involved in the business.  This produces a capitalization factor of approximately 11 times (i.e 1/.09 = 11.1).

2. 
Correct response is (B).


The value of the business is computed as follows:


Net income before taxes



           $125,000


Bad debt expenses





32,000


Investment income





(57,500)









99,500


Taxes (20%)






(19,900)









79,600


Multiplier (11x)





875,600


Add redundant assets:



Marketable securities




150,000



Investment in other companies


800,000


Value of the company





  $1,825,600
(A) is incorrect as candidates did not add back the redundant assets.  (C) is incorrect as bad debt expense and investment income are not added back and deducted.  (D) is incorrect as taxes are not deducted.

3. 
Correct response C

It will be optimal to use capitalized cash flows using the financial statements for a number of prior years as a starting point for computing maintainable cash flows.  Capitalized cash flows will be superior to capitalized earnings given that (i) cash is of primary concern to investors (ii) capitalized cash flows takes into account CCA which could be significant in light of the high value of the company’s equipment (iii) it more accurately takes into account the need to sustain capital investment which is very important for this business.   The reason it would be prudent to consider a number of years of prior financial statements, is that by using a number of prior years it will be possible to cover the relevant business cycle.

4. 
Correct response B

The company only needs to spend $50,000 per year to maintain its earnings.  This is the sustaining capital investment before taxes.  To calculate this figure on an after tax basis, one needs to subtract the tax shield on the sustaining capital investment.  This is calculated as follows:


$50,000 X 40% X 25% X (1 + .10/2)
= $13,636

(.10 + .25) X (1 + .10)


The amount of the sustaining capital investment net of the tax shield amounts to:


$50,000 - $13,636 = $36,364
5. 
Correct response D

	Calculation of Capitalized Cash Flows
	

	
	
	
	

	Maintainable earnings:
	 $ 850,000 

	
	
	
	

	Add: depreciation
	
	    100,000 

	
	
	
	

	Pre-tax cash flows:
	
	   950,000

	
	
	
	

	Less: income taxes (at 40%)
	 380,000 

	
	
	
	

	
	
	
	    570,000 

	
	
	
	

	Less: Sustaining capital investment
	36,364

	         Net of tax shield
	
	

	
	
	
	

	After tax cash flow:
	
	                   533,636    

	
	
	
	

	Multiplier (1/10%)
	
	            10 

	
	
	
	

	
	
	
	5,336,360

	
	
	
	

	Add: Existing tax shield
	71,428

	        Redundant assets at fair market 
	    120,000 

	
	
	
	

	
	
	
	$5,527,778



* Existing tax shield: $250,000 X 40% X 25% = $71,428



                 .25 + .10
6. 
Correct response A

A is correct, as in light of the volatile cash flows, discounted cash flows will be more appropriate than a capitalization approach.  A market based approach would not be appropriate given that SI and its competitors are private companies.
